52 7"7'0In 2,00 P"2.7"02

Wherever additional — INIRMUR AW TORDA P0M 12 PRY 9
work is not lacking, the designation alone defiles it

OVERVIEW

T W in 12 P9 @90 states RAXOVIT 12 YIT 191 MRAA 7AWAN TORDN 1IN0 PRY 2R 9.
The next (1) mIwn states 15 JNRALA 7AW 213 2w 121 INRNAYA 7AW 2"AVA DY M.
1117 72 727 (seemingly) assumes that these two nvIwn are in conjunction with each
other. The second m1wn expounds the rulings of the first. Therefore the case of
XXy (the first 71wn) i1s also being discussed in the following miwn of a 21x. This
refutes therefore the contention of 701 27 that there was a 7wy» M1°w, for an XXV
does not require a 7wy "1°w. Our MooIN asks if the NPIwn are in tandem, it is not
necessary to bring up Xax°y at all.

ndOIN asks:
- INANYT NIDD INDA AN DN

And if you will say; without the ruling of 23 -
= 9P YWINY NNIN NIMN NAYNNDT XONN 1D 7999 NI INNN

Why does not 111 72 727 challenge 70 27 from this 71w» which states that
designation in one’s mind is sufficient; it is therefore evident that >1p 2Ns.

N1B0IN answers:
279210 H¥aa 999N NINT TN NPT 1Y Y

And one can say; perhaps this 71w» here concerning 7nX»nu»n 72wnn is discussing

only the owner; how he can make the X 92p 187 *92, but it is not discussing the 1713 For
the 1213 may require a nwyn "W besides WX

SUMMARY
The 71wn of NRMPLA 72WnH may be discussing the owner exclusively.

THINKING IT OVER

' mpoIn question is that the ruling concerning X2x°¥ (that it requires no ¥1%°p) is irrelevant. The question can be asked
from the general tone of the miwn that nXnvn mawnn, and we are assuming this 71wn is in conjunction with the
following 73wn which discusses a 1213, This proves that a 1213 can be 72wnna Xnwn those 0°23 that have no 7ax77 Nom.
(See, however, 5"7 MB0IN who seems to support the X"wAnT ).

% Mmoo rejects the notion that the first mawn is discussing 1913, Therefore there is no proof from FnXnLA WA
However there is the case of X2¥v. Presumably the miwn of 1213 is also discussing the case of X%y (otherwise it
should have excluded it). By &2x%°¥ there can be no 7wyn "°w (as mentioned previously [in X2x°¥1 7"7 MdOIN]), and
nevertheless the 1213 is 7awnna 7n; this proves that *1p wWIX>. See *"191 2" 0.
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What are the relative advantages and disadvantages of the X"w27n "2 and the "o of
the 2"777 and the >"19?
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